
Number 1 

Next Previous 

a) What are the first 10 
prime numbers? 
 

b) What are the first 10 
square numbers? 
 

c) What are the first 5 
cube numbers? 

Flip 



Number 2 

Next Previous 

What are the factors of 60? 

Flip 

What are the multiples of 12? 



Number 3 

Next Previous 

      36 

Flip 

15 
0 

Evaluate 

10 3 

3 64 

a) 
 
b) 
 
c) 
 
d) 



Number 4 

Next Previous 

Write these in Standard Form 

Flip 

a) 38420 
 

b) 109.44   

Write these as ordinary numbers: 

e)  3.456 x 102 

 
 

2 

4 

-3 

c) 0.0023  
 

d) 4 x 104    x   3 x 107 

f)  1.3 x 10-3 



Number 5 

Next Previous 

Write 24 as the product 
of its prime factors 

Flip 



Number 6 

Next Previous 

How do you work out the 
lowest common multiple of two 
numbers? 

Flip 

E.g. What is the Lowest Common Multiple 
 of 36 and 54? 



Number 7 

Next Previous 

How do you work out the 
highest common factor of 
two numbers? 

Flip 

E.g. What is the Highest Common Factor   
 between 36 and 54? 



Number 8 

Next Previous 

Convert these into fractions 
in their simplest form 

Flip 

a) 24% 
 

b) 0.35 
 

c) 0.424242... 
 

d) 0.3 
 

e) 1.52 



Number 9 

Next Previous 

Convert these into decimals: 
Flip 

a) 24% 
 
 

b)  
 
 

c)  
 

d) 5 hundredths 
 
 
 

3 
5 

4 
9 



Number 10 

Next Previous 

How do you find 13% of a 
number? 

Flip 

E.g. Find 13% of 5km 

How do you increase an amount 
by 4% ? E.g. Increase 70kg by 4% 



Number 11 

Next Previous 

What is the difference 
between simple and 
compound interest? 

Flip 

E.g. What is the simple interest and compound 
 interest when I invest £300 for 5 years at 2% p.a ? 



Number 12 

Next Previous 

How do you simplify a surd? 

Flip 

E.g. Simplify   a)   48 
 
   b)   48  +  2  75 



Number 13 

Next Previous 

Split £400 in the ratio 3:5 

Flip 



Number 14 

Next Previous 

What are the clues that tell 
you it is a reverse percentage 
question? 
 

Flip 

E.g. A car depreciates in value by 10% in its first year. 
It is now worth  £18900.  What was it worth initially? 



Number 15 

Next Previous 

Flip 

What are the upper and 
lower bounds of the 
dimensions of a rectangle 
which is 6.4cm wide and 
3.9cm high (both given to 
1dp)  ? 



Number 16 

Next Previous 

Round each of these to 3 
Significant Figures 
 

Flip 

a) 27845 
 

b) 56.295 
 

c) 16.97772 
 

d) 0.0203451 



Number 17 

Next Previous 

How do you estimate a 
calculation? 

Flip 

E.g. Estimate  
28.9×203.7

0.5
  



Number 18 

Next Previous 

What does it mean to 
‘rationalise the denominator’ ? 

Flip 



Number 19 

Next Previous 

Flip 

What is BIDMAS ?  

Evaluate: 

a)  3 x 5 + 4     
 
b)  18 – 2 x 5 
 
c)  4x2  + 10 
 

2 



Number 20 

Next Previous 

20 pens cost £3.60 
 
a) What would 30 pens cost? 

 
b) What would 11 pens cost? 

Flip 



Number 21 

Next Previous 

How do you... 
 

a) Simplify fractions? 
b) Add fractions ? 
c) Subtract fractions ? 
d) Multiply fractions ? 
e) Divide by a fraction? 
f) Turn a whole number into a 

fraction? 

Flip 



Number 22 

Next Previous 

Flip 

How do you turn a mixed 
number into a top-heavy 
fraction? (and vice versa) 
 

E.g.   Change  2      into a top-heavy fraction 
 
 Change        into a mixed number  

11 
4 

1 
3 



Number 23 

Next Previous 

Flip 

How would you evaluate: 

36−
1
2 

8

125

2
3
 

(a) (b) 



Number 24 

Next Previous 

Flip 

A= 180 (to nearest 10) 
B= 21.5 (to nearest 0.5) 

What is the upper bound 

of 
𝐴

𝐵
 (to 3sf) 



Number 25 

Next Previous 

Flip 

Write 
18+10

2
 in the form 

𝑎 + 𝑏, where a and b are 
both integers 



Number 26 

Next Previous 

Flip 

How many centimetre 
cubes fit in the box 
below? 

2 m 

1 m 
1 m 



Number 27 

Next Previous 

Flip 

Evaluate  
 
a) 6.0 × 108 × 2.5 × 10−5  

 
 

b) (4.8 × 103) ÷ (2 × 109)  



Answer 1 

a) Numbers which can only be divided 
exactly by 1 and the number itself 

    2, 3, 5, 7, 11, 13, 17, 19, 23, 29 
  
b) The answers to multiplying a number by 

itself 
    1, 4, 9, 16, 25, 36, 49, 64, 81, 100 
 
c) Three of each number multiplied 

together (E.g. 2 x 2 x 2 = 8) 
     1, 8, 27, 64, 125 

   



Answer 2 

1, 60 , 2, 30 ,  3, 20  , 4, 15  , 5, 12  , 6, 10 

          (Notice that they come in pairs) 

 

 

12 , 24, 36, 48, ... 



Answer 3 

a)  6 
 
b) 1 
 
c)   1000 
 
d)   4   (It is the cube root) 



Answer 4 

a) 3.842  x 10  
 

b) 1.0944 x 10  
 

c) 2.3 x 10-3  
 

d) 4x3 x 10     = 12 x 10     =  1.2 x 10  
 

e)  345.6 
 

f) 0.0013 

2 

4 

4+7 11 12 



Answer 5 

• This means you need to do a factor tree 

24 

2 12 

3 4 

2 2 

24 = 2 x 2 x 2 x 3  =   2  x 3 3 



Answer 6 

List the multiples of the larger number.   

List the multiples of the smaller number. 

The smallest number in both lists is the            
       LCM 

(Or use Venn diagram of prime factors...) 

54 , 108, ... 
36 , 72 , 108 , ... 



Answer 7 

List the factors of both numbers. 

The biggest number in both lists is the            
       HCF 

(Or use Venn diagram of prime factors...) 

Factors of 36:  1, 36, 2, 18, 3, 12, 4, 9, 6 

 

Factors of 54:  1, 54, 2, 27, 3, 18, 6, 9 

HCF is 18 



Answer 8 

a)         =  
 

b)         = 
 

c) Let x = 0.424242...  Then 100x = 42.424242... 

  Subtracting these equations gives  99x = 42 
  Hence x =        =  

 

d)   
 

e)  Let y = 1.5222...  Then 10y = 15.222... and 100y = 152.222... 

  Subtracting these equations gives  90x = 137 
  Hence x =         = 1 

24 
100 

6 
25 

35 
100 

7 

20 

1 
3 

42 
99 

14 
33 

137 
90 

47 
90 



Answer 9 

a) 0.24 
 

b) 3 ÷ 5  =  0.6    
 (Use bus-stop method if non-calc)  

 
 

c) 4 ÷ 9 =  0.4 
 

d) 0.05 
 



Answer 10 

Multiply by 0.13 
5 km x 0.13 =  0.65 km  = 650m  

  Multiply by 1.04 

70 kg x 1.04 =  72.8 kg   

Alternatively, find 4% and add it on 



Answer 11 

Simple interest is the same amount of 
interest earned each year (a percentage 
of the original amount) 

 

Compound interest is where the interest is 
calculated on the new amount each year 

£300 simple interest at 2% for 5 years =  2% of £300 x 5   
      =  £6 x 5 = £30 
 
£300 invested for 5 years at 2% p.a. compound interest 
turns into             £300 x 1.02  = £331.22   (nearest penny) 
                                                  So interest earned = £31.22 

5 



Answer 12 

a)   48    =  16  x   3   =   4   3 
 
b) 48  +  2  75  =  4   3   +  2 x   25 x   3 
                            =  4   3   +  2 x 5 x   3 
                            =  4   3   +  10   3 
              =  14   3 

Look for square factors of the numbers 
inside the square roots 
 
You can only add or subtract when the 
square-root part is the same  



Answer 13 

3 + 5 = 8 
 
400 ÷ 8 = 50 
 
 
3 x 50 =  £ 150 for the first person 
5 x 50 =  £ 250 for the second person 



Answer 14 

Finding what something ‘used to be’ 
before a percentage change. 

10% depreciation means 90% of 
original amount is left 
 

90% of original = £18900 
    (÷90)                     (÷90) 
1% of original    =   £210 
     (x100)                  (x100) 
100% of original = £21000 



Answer 15 

Lower bounds:  6.35cm and 3.85cm 

 

Upper bounds:  6.45cm and 3.95cm  



Answer 16 

a) 27800 
 

b) 56.3       
(Don’t fill up with zeros after a decimal point) 

 
c) 17.0        
 (You need this zero at the end to show 3SF) 
 
d) 0.0203        
 (Zeros in the middle do count as significant) 



Answer 17 

Round each number to 1 Significant 
Figure before doing the calculation 

30 × 200

0.5
 =

6000

0.5
 =

12000

1
 

𝟏𝟐𝟎𝟎𝟎 



Answer 18 

In a fraction involving surds, it means to create 
an equivalent fraction where the denominator 
is no longer a surd. 

 

    E.g.   10        10 x   5       10   5    =    2   5 

5          5 x   5           5 
=                      = 



Answer 19 

It is the order in which you have to do calculations: 
 

Brackets Indices    (Powers) 
Division and Multiplication 
Addition and Subtraction 

a)  3 x 5 + 4    =  15 + 4  =  19   
 
b) 18 – 2 x 5   =  18 – 10  = 8     

  
c) 4x22  + 10  = 4 x 9  + 10  = 36 + 10 = 46 
   

2 

Do 
FIRST 

Do 
LAST 



Answer 20 

20 pens cost £3.60 
 

a) 30 pens  = 20pens + 10 pens 
                      = £3.60 + half of £3.60 
             = £3.60 + £1.80 
    = £5.40 
 

b)  1 pen = £3.60 ÷ 20 = £0.18 
      11 pens = £0.18 x 11 = £19.80 



Answer 21 
 

a) Divide numerator and denominator by the 
same amount to make numbers smaller 

b) Make the denominators the same, then add 
the numerators. 

c) Make the denominators the same, then 
subtract the numerators. 

d) Multiply tops and multiply bottoms 

e) Flip the SECOND fraction and multiply 
instead of divide 

f) Write it over a ‘1’ 



Answer 22 

E.g.         =  11 ÷ 4  =  2 remainder 3  =  2 11 

4 

1 
3 

•Turn the whole number into a 
fraction and add on the 
fraction part 

2 
1 

1 
3 

E.g.  2          =           +         =          +        =    6 
3 

1 
3 

7 
3 

•Do the division and the remainder 
gives you the numerator of the 
fraction part 

3 
4 



Answer 23 

a) Power of ½ means square root, 
negative power means reciprocal 

36
1
2 = 6 36−

1
2 =

1

6
 

b) Power of 
2

3
 is a combination of 2 

(square) and 
1

3
 (square root). Do 

both (in any order) 

8

125

1
3

=
2

5
 2

5

2

=
4

25
 



Answer 24 

           A= 180 (to nearest 10) 
 
 

           B= 21.5 (to nearest 0.5) 

𝐴𝑚𝑎𝑥 = 185 𝐴𝑚𝑖𝑛 = 175 

𝐵𝑚𝑎𝑥 = 21.75 𝐵𝑚𝑖𝑛 = 21.25 

𝑈𝐵:  
𝐴

𝐵
=

𝐴𝑚𝑎𝑥

𝐵𝑚𝑖𝑛
 =

185

21.25
 = 8.71 



Answer 25 

 
18+10

2
 

Rationalise by multiplying 
top and bottom by 2 

=
36+10 2

2
  

18 × 2 = 36 

10 × 2 = 10 2 

2 × 2 = 2 

 =
6+10 2

2
 Simplify 

 = 𝟑 + 𝟓 𝟐    



Answer 26 

Volume using metres 
  = 1 x 1 x 2  
 = 2m3 

Volume in centimetres 
  = 100 x 100 x 200 
 = 2000000cm3 

 2,000,000 



Answer 27 

600000000 x 0.000025 
   
=600000000 x 0.000025 
   
=600000000 x 25 
   
=15000 

=1.5x104 

Method 1 
   

Method 2 
   6 x 2.5 = 15 
   

108 x 10-5 = 103 

   

15 x 103  

= 1.5 x 104 

   

(4.8 × 103) ÷ (2 × 109) 

a) 

b) 
4.8 ÷ 2 = 2.4   

103 ÷ 109 = 10−6   

𝟐. 𝟒 × 𝟏𝟎−𝟔  


